ASP-I/Economics/CC-1A/GE-1/19
B.A/B.Sc. 1st Semester (General) Examination, 2019 (CBCS)

Subject : Economics

Paper : CC-1A/GE-1

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.
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(Micro Economics)
1. Answer any ten questions: 2x10=20
@ @I o 24T Ted wie ¢
(a2) What is meant by Marginal Utility?
2% AR e S @R
(b) What is Law of Demand?
SiRAE 2 2
(c) Define Complementary goods and Substitute goods with examples.
TR ARGET T R HARTS TR K@ He |
(d) Define a Normal goods.
=5 FreiRe TCe HKERS |
(e) What is the shape of total revenue curve of a firm under perfect competition?
5 AfsrEifrer IEE @FHe FGE Gb @eHe @UN SFS @FN 72
(f) Define Price Elasticity of Demand.
sz st RfogeeeR e wis |
(g) What is an Indifference curve?
=5 el @ Je
(h) Draw average fixed cost curve and state the cause of its particular shape.
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(i) Determine the value of marginal revenue when price elasticity of demand is 1 (one).
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(j) What is an Oligopoly Market?
@5 wferasife qe He
(k) Define Marginal Physical Product and Value of Marginal Product.
e VT T @ Alfe SesAl TR K] e |
(1) What is Opportunity Cost?
A T e

(m) Define the Market of Monopolistic Competition.
G Aferiten A sew we |

(n) What is Quasi-rent?
-t 2

(0) What is the condition of consumer’s equilibrium in marginal utilitiy theory?
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Answer any four questions: Sx4=20
& e DI Aeed Tew e ¢

(@) (1) What is Consumer's Surplus?
ORI Bge e

(i) Explain graphically the method of measurement of consumer’s surplus. 1+4=5

(b) What is ‘inferior goods'? Explain the nature of change in consumer’s equilibrium as a result

of change in consumer’s income in case of an inferior goods. 1+4=5
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(¢) (1) What do you mean by Scale of Production?
TAWTAT N I N @R ?
(i) Explain increasing returns to scale of a firm.
4 TG TeAWGET (¥ TGN Taioe w0 @ |

(ii1) What is the shape of the long run average cost curve of
returns to scale?

a firm operating under constant
14+2+2=5
T P AT AT 0 @A W N @ W W AT e
(d) What do you mean by Price Discrimination? Discuss. unde
discrimination is possible and profitable.
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t what conditions price
+4=5
(I MTORTHT HEINW ¢ Nowwe
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(e) Discuss the factors determining demand for loanable funds. State the sources of supply

of loanable funds.
ercatsy wafrera oifa fsfe @ Soimmef SEsl S | A6y Sk e TeAetE
faqe @l

(f) What is Normal profit? Give an outline of Innovation Theory of profit. 14+4=5

Aol AR Fz AR Tog AT wglvd Gl A we

3. Answer any two of the questions: 10x2=20
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(a) With the help of indifference curve and budget line show the equilibrium of a consumers.

fTarers @3l ¢ AE0 @A ARV (ST Sy S9Z (LI€ |

(b) Distinguish between Firm and Industry. Explain how price under perfect competition is

determind by the interaction of demand and supply curve of the market.
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(¢c) (i) Explain the motives of demaned for money in Keynes’s liquidity preference theory

of interest rate determination’
(@R OIFE AR OGS SifviE Sreeafe it e |

(ii) What is Liquidity Trap? 842=10
SRR ¥ 2|

(d) Explain the method of drawing the supply curve of labour. What is Trade Union? 8+2=10
WO (@I (@ o oS il Al | @i e e
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